
SAP ABAP table OIRBSAREAM {Sub Area Manager assignment (IS-OIL SSR)}

OIRBSAREAM

MANDT [CLNT (3)]

SAREACTRY [CHAR (3)]

LOCSAREA [CHAR (4)]

LOCSAREAMAN [CHAR (12)]

OIRBSAREA

MANDT [CLNT (3)]

SAREACTRY [CHAR (3)]

LOCSAREA [CHAR (4)]

 OIRBSAREAM-LOCSAREA = OIRBSAREA-LOCSAREA 
{0,1}

1  OIRBSAREAM-SAREACTRY = OIRBSAREA-SAREACTRY 
{0,1}

1
SOUC

MANDT [CLNT (3)]

SAPNAM [CHAR (12)]

 OIRBSAREAM-LOCSAREAMAN = SOUC-SAPNAM 

0..N
0..N

T000

MANDT [CLNT (3)]

 OIRBSAREAM-MANDT = T000-MANDT 

0..N

0..N


